
 
Supplement to population growth and natural resource scarcity 
 
 
 
Results from numerical simulations  
 
Parameter values:  a=0.9;s=0.3;r=0.01;b=0.8;m=0.1; l=0.9.
 
 
a) Poor population growth: x = 0.01 < 1-α
 

Vector field 
 

 

0.1 0.2 0.3 0.4 0.5
d

0.012

0.014

0.016

0.018

0.020

0.022

g 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Development of Ω 
 
 

0.2 0.4 0.6 0.8
d

0.002

0.004

0.006

0.008

0.010

0.012

W

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



b) Intermediate population growth (“Hartwick case”):  x = 0.1 = 1-α
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c) High  population growth: x = 0.15 >  1-α
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